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ZnCly(g) + 1/204(g) = ZnOCl(g) + 1/2Cly(g)
AG° = -19,000 (£5,900) + 74 (£6.9)T  J/mol (8230 873K)
Zn(g) + 1/204(g) + 1/2Cly(g) = ZnOCl(g)

AG° = -414,000 (£5,900) + 181 (6.9  J/mol (8230 873K)
00000000 znCLOOOOOOO0OO0OO0000000000ZnCLOO0O0000
00000000000000000
0 6000 923K0973K01023K 0 0.021003atm 000000000 PbCLODO OO
000000000000000000000000000000000000000
PbCLOOOOODOOOOOOOPKCLOODDOOODONOOOONONOONOONONO0OOOONn
0000000000000000000000000000PKLO00000000
000000000000000000 PbCl(lg) + 1/20x(g) = PbOCI(Lg) + 1/2CL(g)0
OD00000O00PKL(gdOOD000 PbOCKg)D OO Gibbs 0000000 O0O
PbOCI(g)J 0000 Gibbs 0000000000000 00O000

PbCly(g) + 1/204(g) = PbOCI(g) + 1/2Cly(g)

AG° = 4,700 (£2,400) + 48 (+2.6)T  J/mol (9230 1023K)

Pb(g) + 1/205(g) + 1/2CL(g) = PbOCI(g)

AG® = -364,300 (£2,400) + 129 (+2.6)T  J/mol (9230 1023K)
00000000 PCLOODOOODOOO0DOOOOONODONONOOOOOOONOoOn
0000000000000000
07000003000060000000000000000000000000
000000000000000000000000000000000000000
00000000000000000000000000000000000 ZnO O
00 znOCIOOO PbCLO OO POCIDODOOOODO0O0OOODO0OOOO0O0O00OO0

O0D0000obOoOoOgn znOClO ZnCLUO OO Wzoc/WzcO O O O PbOCL O PbCl,



oon0 "o 1O OODODOD0O0OODOOO0OOOOOODOOOODODODOOODOOO
ZnCl(g U0 D0000b0bu0dioblFeznC,U00O00OO0OOOOODOOOOODOO
0000000 b0O00bbo0o0dboDbDOn Fes)DZnCly(gD DO OODDOOOODODOO
goboooobooobboobboboodbobooobboooboboooboboo
gobbooobbooobboooobbuooobobbooobbooobbooo
gooooooo

Ugstdddooouoooouoooo

gobogopooobooooobooobbooobbooobobuooobboon
ooy oo

goboodooobooobbooobobooboboooobboon



